

JUDSON INDEPENDENT SCHOOL DISTRICT

Meeting Date: January 23, 2025

Submitted By: Daniel Brooks **Title:** Assistant Superintendent

Agenda Item: Consider and take action approving the purchase of weight room equipment from Bond 2022 for Cibolo Creek MS.

CONSENT ITEM

RECOMMENDATION:

It is recommended that the Board approve the purchase of weight room equipment for Cibolo Creek MS and that the Board of Trustees delegate the authority to the Superintendent or their designee to execute all contracts and related documents necessary to complete this project. The scope of work includes the purchase of weight room equipment including but not limited to a dumbbell rack, a kettle bell rack, assorted dumbbells of various weights, wall mounted jump rope bar, etc. for the Cibolo Creek MS. Expenditures will be made from Bond 2022 funds at a total estimated cost of \$105,750.34.

IMPACT/RATIONALE:

Board Policy CH (Local) states that any single, budgeted purchase of goods or services that cost \$50,000 or more shall require Board approval before a transaction may take place, unless the purchase falls into a categorical exemption or exception as reflected in the policy. Expenditures will be made from Bond 2022 funds at a total estimated cost of \$105,750.34. The scope of work includes the purchase of weight room equipment (including but not limited to a dumbbell rack, a kettle bell rack, assorted dumbbells of various weights, wall mounted jump rope bar, etc.) for Cibolo Creek MS. The contract will be for a specific project and will expire upon completion of all related services.

BOARD ACTION REQUESTED:

Approval/Disapproval



JUDSON INDEPENDENT SCHOOL DISTRICT

Facilities Planning Department

Date: January 23, 2025

To: Lynnette Trevino, Director of Purchasing

From: Benjamin S. Mora, Executive Director of Facilities Planning

Project: Cibolo Creek Middle School – Weight Room Equipment

The Departments of Athletics and Facilities Planning have found BSN Sports, LLC. (JISD 21-09) to be a highly qualified firm to provide weight room equipment for the Cibolo Creek Middle School (MS #6) project.

The scope of work includes the purchase of weight room equipment including but not limited to a dumbbell rack, a kettle bell rack, assorted dumbbells of various weights, wall mounted jump rope bar, etc. for the Cibolo Creek Middle School (MS #6) project.

The total estimated cost to procure this equipment is \$105,750.34.

Expenditures will be made from Bond 2022 funds.

Board Policy CH (Local) states that any single, budgeted purchase of goods or services that cost \$50,000 or more shall require Board approval before a transaction may take place, unless the purchase falls into a categorical exemption or exception as reflected in the policy.

A categorical exemption shall be defined as:

- Expenditures for utilities including electricity, natural gas, telecommunications, water and wastewater.
- Expenditures for impact and permitting fees imposed by municipalities and county governments.
- Payments to the County Appraisal District.
- Expenditures for vehicle fuels procured through board-approved purchasing cooperatives.
- Expenditures for food service products procured through board-approved purchasing cooperatives.

An exception shall be defined as:

 Emergency expenditures in the event of catastrophe, emergency, or natural disaster affecting the district.

The expenditures indicated on the attached document are not covered under the categorical exceptions as contained in Board policy.

CC: Cecilia Davis, Deputy Superintendent of Operations Daniel Brooks, Assistant Superintendent of Operations

7980 Pat Booker Road • Live Oak, Texas 78233• (210) 945-5542 • www.judsonisd.org

It is the policy of Judson Independent School District not to discriminate on the basis of age, race, religion, color, national origin, sex, marital or veteran status, disability or other legally protected status in its programs, services or activities as required by Title VI of the Civil Rights Act of 1964, as amended; Title IX of the Education Amendments of 1972; and Section 504 of the Rehabilitation Act of 1973, as amended. The following person has been designated to handle inquiries regarding the non-discrimination policies: Executive Director of Human Resources. 8012 Shin Oak. Live Oak, TX. 78233. (210) 945-5608.

PO Box 841393 Dallas, TX 75284-1393 Phone: 800-527-7510 Fax: 800-899-0149 Visit us at www.bsnsports.com	Purchase Order #: CCMS Weight Equipment Cart Name: CCMS Weight Room Equipmen Quote Date: 11/24/2024 Quote Valid-to: 02/28/2025 Payment Terms: NT00 Ship Via: Ordered By: Cany Tanner								
Candy Tanner Email: ctanner@bsnsports.com Sold to 15731328 CIBOLO CREEK MIDDLE SCHOOL 5735 WALDON WALK SAN ANTONIO TX 78261 USA	N Phone:210-379-3431 Ship To 15731328 CIBOLO CREEK MIDDLE SCHOOL 5735 WALDON WALK SAN ANTONIO TX 78261 USA	5735 WALDON WALK							
Item Description		Qty		Unit Price		Total			
WF - Varsity Double Rack Item # - 1378745		4 EA	\$	4,299.99	\$	17,199.96			
WF - Varsity Half-Rack Item # - 1378741		4 EA	\$	1,899.99	\$	7,599.96			
WF MULTI GRIP BRIDGE BR-MG Item # - 1463593	101	9 EA	\$	449.99	\$	4,049.91			
WF - Land-Mine Item # - 1378757		12 EA	\$	189.99	\$	2,279.88			
WF - One Leg Squat Attachment Item # - 1378756	t	12 EA	\$	279.99	\$	3,359.88			
WF - Flat-To-90 Bench w/Transp Item # - 1378759	port Wheels	12 EA	\$	679.99	\$	8,159.88			
WF - 10' - 3 Tier Dumbbell Rac Item # - 1378810	k	1 EA	\$	899.99	\$	899.99			
WF 5' 3 TIER DUMBBELL RACK Item # - 1463624	URB-006D	1 EA	\$	599.99	\$	599.99			
WF - Kettle Bell Rack Item # - 1378914		1 EA	\$	1,399.99	\$	1,399.99			
Olympic Competition Bumper Bla Item # - 1459635	nck 45LB	108 EA	\$	149.99	\$	16,198.92			
Olympic Competition Bumper Bla Item # - 1459633	ck 25LB	72 EA	\$	119.99	\$	8,639.28			
Olympic Rubber Plate Black 10Ll Item # - 1459642	B	36 EA	\$	24.99	\$	899.64			
Urethane Locking OLY Grip Plate Item # - 1386481	e 10lb	48 EA	\$	37.99	\$	1,823.52			
Urethane Locking OLY Grip Plate Item # - 1386480	e 5lb	48 EA	\$	22.99	\$	1,103.52			
VTX Round Urethane Logo DBs Item # - NSPHG	5-50lbs	1 EA	\$	1,899.99	\$	1,899.99			
VTX Round Urethane Logo DBs Item # - NSPHG	55-75lbs	1 EA	\$	1,699.99	\$	1,699.99			
10Ib VTX Urethane Logo DB Item # - NSPHG		2 EA	\$	59.99	\$	119.98			
15Ib VTX Round Urethane Logo Item # - NSPHG	DB	2 EA	\$	69.99	\$	139.98			
20Ib VTX Round Urethane Logo Item # - NSPHG	Dumbbell	2 EA	\$	79.99	\$	159.98			
25Ib VTX Round Urethane Logo Item # - NSPHG		2 EA	\$	89.99	\$	179.98			
30Ib VTX Round Urethane Logo Item # - NSPHG	Dumbbell	2 EA	\$	99.99	\$	199.98			
35Ib VTX Round Urethane Logo	Dumbbell	2 EA	\$	109.99	\$	219.98			
50Ib VTX Round Urethane Logo Item # - NSPHG		2 EA	\$	139.99	\$	279.98			
55lb VTV Dound Urothana Logo	Dumbhall		•		•				

2 EA

\$

149.99

\$

299.98

55Ib VTX Round Urethane Logo Dumbbell Item # - NSPHG

Quote

Cart #: 12588761 Purchase Order #: CCMS Weight Equipment

		Quote					
BSN SPORTS Dallas, TX 75284-1393 Phone: 800-527-7510 Fax: 800-899-0149 Visit us at www.bsnsports.com	Cart #: 12588761 Purchase Order #: CCMS Weight Equipment Cart Name: CCMS Weight Room Equipmen Quote Date: 11/24/2024 Quote Valid-to: 02/28/2025 Payment Terms: NT00 Ship Via: Ordered By: Cany Tanner						
Item Description	Qty	-	Unit Price		Total		
60Ib VTX Round Urethane Logo Dumbbell Item # - NSPHG	2 EA	\$	159.99	\$	319.98 _		
80lb VTX Round Urethane Logo Dumbbell	2 EA	\$	199.99	\$	399.98		
Logo Setup Fee Item # - NSPHG	1 EA	\$	0.00	\$	0.00		
TEXAS POWER BAR BLACK ZINC- CHROME SLV Item # - 1461805	12 EA	\$	369.99	\$	4,439.88		
Women's Olympic Bar Item # - 1386478	12 EA	\$	189.99	\$	2,279.88		
ALUMINUM TECHNIQUE BAR 72" Item # - 1101250	4 EA	\$	129.99	\$	519.96		
Trap/Hip Hex Bar Item # - 1455250	8 EA	\$	149.99	\$	1,199.92		
BIb Dynamax Med Ball Item # - NSPHG	12 EA	\$	105.00	\$	1,260.00		
14lb Dynamax Med Ball Item # - NSPHG	12 EA	\$	121.00	\$	1,452.00		
WALL MOUNTED JUMP ROPE RACK Item # - MSWMJRACBM	2 EA	\$	29.99	\$	59.98		
ArmaSport Balance Pad Item # - 1388425	12 EA	\$	54.99	\$	659.88		
Set of 5 Foam Plyo Boxes Item # - NSPHG	2 EA	\$	1,299.99	\$	2,599.98		
Light Reactor Strength Band BLU Item # - 1455156	24 EA	\$	2.99	\$	71.76		
Med Reactor Strength Band GRN Item # - 1455157	24 EA	\$	7.99	\$	191.76		
Heavy Reactor Strength Band BLK	24 EA	\$	12.99	\$	311.76		
Ultra Heavy Reactor Strength Band RED Item # - 1455159	24 EA	\$	19.99	\$	479.76		
Lock-Jaw Olympic Collar - Black Item # - 1379947	28 PR	\$	29.99	\$	839.72		
Equipment Installation Item # - NSPINSTALL	1 EA	\$	5,250.00	\$	5,250.00		
	Subtotal:			\$10	01,750.34		
	Other:				\$0.00		
3" x 3" - 7 Gauge Steel Racks	Freight:			S	\$4,000.00		
Custom Frame/Vinyl Colors Included	Sales Tax:				\$0.00		
Custom Logos/Lettering Included	Order Total:			\$10	05,750.34		
-	Payment/Credit Applied:				\$0.00		
Unloading, Inside Delivery, Installation Included for All Custom	Order Total:			\$10	05,750.34		
Racks/Equipment							
Customer Responsible for Receiving Stock Material Shipment							
(weights/bars/bands etc.)							
No Demo/Removal of Existing Equipment							
Room must be clear/ready for Installation							

Room must be on the ground floor. No Stairs

-



DORISTURIS

PO Box 841393 Dallas, TX 75284-1393 Phone: 800-527-7510 Fax: 800-899-0149 Visit us at www.bsnsports.com

Item Description

NON PREVAILING WAGES

NON UNION

NO LICENSING/PERMITS

 Cart #: 12588761

 Purchase Order #: CCMS Weight Equipment

 Cart Name: CCMS Weight Room Equipmen

 Quote Date: 11/24/2024

 Quote Valid-to: 02/28/2025

 Payment Terms: NT00

 Ship Via:

 Ordered By: Cany Tanner

Unit Price

Qty

Total